40 kg T+ C Ik

138 HERRR RN R

T B=E 1

REAF-BERILFTE-3

_I%_* 2; 2 2-0  0:51
R - KERMKRFE=2

FH FE 3

B R BTt 1

107

61
ST
Fl_lﬁl ;ﬁ'g)-b 4 0-10 _ 1:49

FER-HAMIMAE=-2

123

X¥E BE 5

BEAR-FRMILER2

62
PP
HE A e 82400

FNR-FNRIGHMI-2

WE =RE 7
IR - B B S 63
ST

W,%EEI ;ﬁ 8 0-10 1:18
FER-EEmIIEE2 B136

108

e =X 9

1912 5 S BT SRR -2 64

ST

BEAR-ERWIER-T

Bl BHHE 1

BRERER - A IR E -1

109

65
ST

I3 E;% 12 10-0  0:33

BER-MICAZERTHATI— 1

124

#Il EER 13

WOR-AfmmiEs-3

12{ Eﬂ g -H'ﬁ 14 4-0 0:40

RHER-/NEMILFR-3

4 e85 15

AR -EMTILI—E 2

110

67
ST
T3 BB 16 -0=2108
EER-FAIERYE-2




